Answer on Question #80397 — Math — Calculus

Question

Find the length of the curve,
2y? = x3 from the vertex (0,0) to the point (4,4v2) .

Solution

For the top half of the curve we have
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and so the arc length formula gives
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If we substituteu =1 + Zx ,then du = g dx.Whenx = 0,u=1,whenx =4,u= >y

11 11
2 2 11/2 11/2 11/2
8 8 8 1 8 2 16
—— — . 1/2 —_ . 1/2+1 — .. 3/2 — . 3/2 —
Lg.f\/ﬂdugfu du91+1u 93u]1 27u]1
1 1

2 1

16 <11)3/2 .
27 |\2

Without a substitution it will be



4422 — 16

4 1
=ﬁ(11\/ﬁ—4)=ﬁ(44\/ﬁ—16)= ~

Answer: L = 21—7(44\/2_ — 16)

Answer provided by https://www.AssignmentExpert.com



https://www.assignmentexpert.com/

